REDUCTIEMOER — 6-KANT l-l 5 n— -“{@ 1oovp,
K- - TR Ay
METRISCHE DRAAD tagvesova technika vei

Ay E /
STAAL VERZINKT

Description:

Is designed to reduce the joint of nut on pipe clamp or threaded rod to increase the load-bearing capacity or to lighten
the structure.

Package

25000608 Reducing nut M&6/M& inside / outside Me/M3 21 11.05 10 100
25000806 Reducing nut M8/M6 inside / outside M8/Mb 22 14,38 13 100
25000810 Reducing nut M8/M10 inside / outside M8/M10 25 14,38 13 100
25000812 Reducing nut M8/M12 inside / outside ME&/M12 27 14,38 13 100
25001008 Reducing nut M10/M8 inside / outside M10/M3 24 18.9 17 100
25001012 Reducing nut M10/M12 inside / outside M10/M12 28 18.9 17 100
25001016 Reducing nut M10/M16 inside / outside M10/M16 30 18.9 17 100
25001208 Reducing nut M12/M8 inside / outside M12/M8 25 211 19 100
25001210 Reducing nut M12/M10 inside / outside M12/M10 27 21,1 19 100

25001216 Reducing nut M12/M16 inside / outside M12/M16 31 21,1 19 100



Package

25001220 Reducing nut 1/2*/M10 inside / outside 1/2"/M10 33 26,75 24 10
25001610 Reducing nut M16/M10 inside / outside M16/M10 33 26,75 24 10
25001612 Reducing nut M16/M12 inside / outside M16/M12 35 26,75 24 10
25002010 Reducing nut M20/M10 inside / outside M20/M10 36 32,95 30 10
CROSS REFERENCE TABEL :

Konarik WT ARTIKELNUMMER Inhoud

Industrial pack WT system WT system I-pack/pcs R-pack/pcs S-pack/pcs
Partnr. Fabric pack Retail pack Small pack Pack Carton|| Pack Carton|| Pack Carton
25000608 | DFRMIZVMI06-MO08-100 | DFRMRWV-MI06MO08-025 | DFRMSWV-MI06MO08-202 100 | 1000 1x25 | 10x25 1x2 60x2
25000806 | DFRMIZVMI08-MO06-100 | DFRMRWV-MI08MO06-025 | DFRMSWV-MI08MO06-202 100 | 1000 1x25 | 10x25 1x2 60x2
25000810 | DFRMIZVMI08-MO10-100 | DFRMRWV-MI08MO10-025 { DFRMSWV-MI08MO010-202 100 | 1000 1x25 | 10x25 1x2 60x2
25000812 ;| DFRMIZVMI08-M012-100 X X 100 1000
25001008 | DFRMIZVMI10-M0O08-100 | DFRMRWV-MI1L0MO08-025 | DFRMSWV-MI10MO08-202 100 | 1000 1x25 | 10x25 1x2 60x2
25001012 | DFRMIZVMI10-M012-100 | DFRMRWV-MI10MO12-025 | DFRMSWV-MI10MO012-202 100 | 1000 1x25 | 10x25 1x2 60x2
25001016 | DFRMIZVMI10-MO16-100 X X 100 | 1000
25001208 | DFRMIZVMI12-MO08-100 X X 100 | 1000
25001210 | DFRMIZVMI12-M010-100 | DFRMRWV-MI12M010-025 { DFRMSWV-MI12M010-202 100 | 1000 1x25 | 10x25 1x2 60x2
25001216 | DFRMIZVMI12-M0O16-100 X X 100 | 1000
25001220 | DFRMIZVCI05-MO010-010 X X 10 100
25001610 | DFRMIZVMI16-M010-010 X X 10 100
25001612 | DFRMIZVMI16-M012-010 X X 10 100
25002010 | DFRMIZVMI20-M010-010 X X 10 100




D2

P —————.{

s —

I —

%




